
(a)

	Probability for a pair of neighbouring molecular nucleotides to appear in a DNA sequence of a species
	A
	C
	T
	G

	A  (Adenine)
	0.3
	0.5
	0.1
	0.1

	C   (Cytosine)
	0.1
	0.1
	0.2
	0.6

	T   (Thymine)
	0.3
	0.1
	0.2
	0.4

	G   (Guanine)
	0.25
	0.15
	0.3
	0.3


(b)

                           P (tomorrow | today)     table


      		           Tomorrow	


		      (S)      (C)        (R)	


              Sunny(S)      .7    	    .2  	  .1


Today 	Cloudy(C)    .05	    .8	  .15


	Rainy(R)      .15	    .25	  .6








